
Multiplication                          Correction

1) Complète 

25 × 0,1 = 2,5 944 × 0,001 = 0,944 16 × 0,01 = 0,16

125 × 0,01 = 1,25 527 ×  0,1 = 52,7 47 × 0,001 = 0,047

8 × 0,001 = 0,008 5 × 0,01 = 0,05 453 × 0,01 = 4,53

2) Complète 

467 × 0,01 = 4,67 43 × 0,001 = 0,043 59 × 0,1 = 5,9

267 × 0,001 = 0,267 88 × 0,001 = 0,088 947 × 0,01 = 9,47

9000 × 0,001 = 9 150 × 0,1 = 15 1 240 × 0,01 = 12,4

3) Complète 

9,7 × 0,1 = 0,97 1,04 × 0,01 = 0,0104 0,4 × 0,001 = 0,0004

19,4 × 0,01 = 0,194 0,207 × 0,1 = 0,0207 5,1 × 0,001 = 0,0051

4) Complète 

54,8 × 0,1 = 5,48 2,9 × 0,01 = 0,029 5,91 × 0,1 = 0,591

27,9 × 0,001= 0,0279 1,2 × 0,001 = 0,0012 761,4 × 0,01 = 7,614
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